
Nombres Décimaux (I)
Trouvez chaque différence.

687,9 - 593,7 = 746,3 - 262,5 =

155,7 - 26,58 = 1801 - 673,6 =

57,71 - 55,15 = 88,41 - 0,2232 =

4976 - 3,96 = 303,3 - 6,309 =

17,88 - 0,4768 = 5537 - 0,6154 =

7263 - 57,66 = 6,662 - 1,096 =

88,45 - 1,222 = 545,2 - 11,83 =

3477 - 2,959 = 60,78 - 8,095 =

15,55 - 10,95 = 0,2299 - 0,1705 =

6447 - 0,4229 = 75,25 - 0,1297 =
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Nombres Décimaux (I) Solutions
Trouvez chaque différence.

687,9 - 593,7 = 94,1999999999999 746,3 - 262,5 = 483,8

155,7 - 26,58 = 129,12 1801 - 673,6 = 1127,4

57,71 - 55,15 = 2,56 88,41 - 0,2232 = 88,1868

4976 - 3,96 = 4972,04 303,3 - 6,309 = 296,991

17,88 - 0,4768 = 17,4032 5537 - 0,6154 = 5536,3846

7263 - 57,66 = 7205,34 6,662 - 1,096 = 5,566

88,45 - 1,222 = 87,228 545,2 - 11,83 = 533,37

3477 - 2,959 = 3474,041 60,78 - 8,095 = 52,685

15,55 - 10,95 = 4,6 0,2299 - 0,1705 = 0,0594

6447 - 0,4229 = 6446,5771 75,25 - 0,1297 = 75,1203
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